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1. Which of the following statements is/are incorrect with respect to the arrival of 

Europeans in Kerala? 

(i) The religious policy of the Portuguese in Kerala was liberal and enlightened 

(ii) In 1741, the Dutch were defeated by Marthanda Varma in the battle of Colachel 

(iii) The treaty of Sreerangapattanam was signed between Hyder Ali and the English 

East India Company 

(iv) Paliath Achan, who fought against the English was the chief minister of Kochi 

Select the correct answer from the codes given below : 

(A) Only (i) and (ii) 

(B) Only (i), (ii) and (iv) 

(C) Only (i) and (iii) 

(D) Only (ii) and (iv) 

2. Who is the author of the Cochin State Manual? 

(A) C. Achuta Menon (B) K.P. Padmanabha Menon 

(C) V. Nagam Aiya (D) T.K. Velu Pillai 

3. Which of the following was not a demand of the Indian National Congress in the 

beginning? 

(A) Expansion of the Legislative Council 

(B) Reduction of military expenditure 

(C) Raising of the age limit for the candidates of Public Service Examination 

(D) Complete independence to the Indians 

4. Which of the following leaders were not associated with Nehru in fostering the  

Non-Aligned Movement, one of the basic principles of India’s foreign policy? 

(A) Sukarno (B) Chou En-Lai 

(C) Gamal Abdul Nasser (D) Marshall Tito 
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1. യൂേറാപയ്nാരുെട േകരളtിെല വരവ്‌ സംബnിc് താെഴ പറയുnവയിൽ 

ഏതാണ്‌ െതƃ്? 

(i) േകരളtിെല േപാർcുഗീസുകാരുെട മതനയം uദാരവും ്രപബുdവുമാ 

യിരുnു 

(ii) 1741-ൽ കുളcൽ യുdtിൽ മാർtാūവർm ഡcുകാെര 
പരാജയെpടുtി 

(iii) ൈഹദരാലിയും iംgീഷ്‌ ഈs് inയ്ാ കmനിയും തmിൽ ്രശീരംഗപŨണം 
uടmടി opുവcു 

(iv) iംgീഷുകാർെkതിെര േപാരാടിയ പാലിയtcനായിരുnു െകാcിയിെല 
മുഖയ്മ്രnി 

ചുവെട നൽകിയിരിkുn േകാഡുകളിൽ നിn് ശരിയായ utരം െതരെŧ 

ടുkുക : 

(A) (i), (ii) മാ്രതം  

(B) (i), (ii), (iv) മാ്രതം 

(C) (i), (iii) മാ്രതം  

(D) (ii), (iv) 

2. െകാcിൻ േsƃ് മാനവ്ലിെn  രചയിതാവ്‌ ആരാണ്‌? 

(A) സി. aചയ്ുതേമേനാൻ (B) െക.പി. പtനാഭ േമേനാൻ 

(C) വി. നാഗം ay (D) ടി.െക. േവലുpിll 

3. താെഴpറയുnവയിൽ ഏതാണ്‌ തുടktിൽ inയ്ൻ നാഷണൽ േകാൺ്രഗs് 

ആവശയ്െpടാtത്‌? 

(A) െലജിേsƃീവ്‌ കൗൺസിലിെn വിപുലീകരണം 

(B) ൈസനീക െചലവ്‌ കുറയ്‌kൽ 

(C) പbിക്‌ സർvീസ്‌ പരീkയുെട uേദയ്ാഗാർtികളുെട ്രപായപരിധി 
uയർtൽ 

(D) inയ്kാർk് സmൂർŬ സവ്ാത്രnയ്ം 

4. inയ്യുെട വിേദശനയtിെn aടിsാന തതവ്šളിെലാnായ േചരിേചരാ 
്രപsാനെt പരിേപാഷിpിkുnതിൽ താെഴpറയുnവരിൽ ഏത്‌ േനതാkളാണ്‌ 

െനഹ്‌റുവുമായി ബnമിലല്ാtത്‌? 

(A) സുകാർേണാ (B) ചൗ eൻ-ലായ്‌ 

(C) ഗമാൽ abുൾ നാസർ (D) മാർഷൽ ടിേƃാ 
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5. Arrange the following revolutions in the order of their occurrence. 

(i) French Revolution 

(ii) Great Revolution in England 

(iii) Chinese Revolution 

(iv) Russian Revolution 

Select the correct answer from the codes given below : 

(A) (i), (ii), (iii), (iv) (B) (iv), (iii), (ii), (i) 

(C) (ii), (i), (iv), (iii) (D) (i), (ii), (iv), (iii) 

6. Recently, the criminal justice system of India was completely overhauled. Based on this, 
which of the following statements are correct? 

(i) The Indian Penal Code has been replaced by the Bharatiya Nyaya Sanhita. 

(ii) The Criminal Procedure Code has been replaced by the Bharatiya Nagrik 
Suraksha Sanhita. 

(iii) The Indian Evidence Act has been replaced by the Bharatiya Sakshya Adhiniyam. 

(iv) The new reform came into effect on July 1, 2024. 

Select the correct answer from the codes given below : 

(A) Only (i) and (ii) 

(B) Only (i), (iii) and (iv) 

(C) Only (i) and (iii) 

(D) (i), (ii), (iii) and (iv) 

7. Name the group of plants that thrive in ice covered arctic and polar areas : 

(A) Microtherms (B) Megatherms 

(C) Hekistotherms (D) Mesotherms 

8. The Type of drainage pattern usually found on maturely dissected dome structures 
encircled with alternate weak and hard rocks : 

(A) Centripetal pattern (B) Annular pattern 

(C) Parallel pattern (D) Radial pattern 

9. Advanced Space borne Thermal Emission and Reflection Radiometer (ASTER) is a high 
resolution remote sensing instrument associated with which of the following satellite : 

(A) Terra (B) Landsat 

(C) SPOT (D) Sentinel 
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5. താെഴpറയുn വിpവšൾ aവയുെട സംഭവtിെn ്രകമtിൽ 
്രകമീകരിkുക  : 
(i) ്രഫŦ് വിpവം  

(ii) iംgŪിെല മഹtായ വിpവം 
(iii) ൈചനീസ്‌ വിpവം 

(iv) റഷയ്ൻ വിpവം 
 ചുവെട നൽകിയിരിkുn േകാഡുകളിൽ  നിn് ശരിയായ utരം തിരെŧ 

ടുkുക 

(A) (i), (ii), (iii), (iv) (B) (iv), (iii), (ii), (i) 
(C) (ii), (i), (iv), (iii) (D) (i), (ii), (iv), (iii) 

6. aടുtിെട, inയ്യിെല ്രകിമിനൽ നീതിനയ്ായ വയ്വsെയ പൂർŬമായും 
മാƃിമറിcു. iതിെn aടിsാനtിൽ താെഴ പറയുnവയിൽ ഏതാണ്‌ ശരി? 

(i) inയ്ൻ പീനൽ േകാഡിന്‌ പകരം ഭാരതീയ നയ്ായ സംഹിത en 
നിയമമാണ്‌ നിലവിൽ വnത്‌ 

(ii) ്രകിമിനൽ െ്രപാസീജയ്ർ േകാഡിന്‌ പകരം ഭാരതീയ ന്രഗിക്‌ സുരkാ  
സംഹിത 

(iii) inയ്ൻ eവിഡൻസ്‌ ആക്‌ടിന്‌ പകരം ഭാരതീയ സാkയ് aധീനിയം 
നിലവിൽ വnു 

(iv) പുതിയ പരിഷ്‌കാരം 2024 ജൂൈല 1  മുതൽ ്രപാബലയ്tിൽ വnു 
ചുവെട നൽകിയിരിkുn േകാഡുകളിൽ നിn് ശരിയായ utരം  

 െതരെŧടുkുക 

(A) (i), (ii) മാ്രതം (B) (i), (iii), (iv) മാ്രതം 
(C) (i), (iii) മാ്രതം (D) (i), (ii), (iii), (iv)  

7. മŧ് മൂടിയ ആർŨിക്‌, ്രധുവ്രപേദശšളിൽ വളരുn സസയ്šളുെട കൂŨtിന്‌ 
േപര്‌ നൽകുക : 

(A) ൈമേ്രകാെതർമുകൾ (B) െമഗാെതർമുകൾ 
(C) െഹകിേsാെതർമുകൾ (D) െമേസാെതർമുകൾ 

8. ദുർബലവും കഠിനവുമായ പാറകളാൽ ചുƃെpŨ, പകവ്മായി വിഘടിc 
താഴികkുട ഘടനകളിൽ സാധാരണയായി  കാണെpടുn െ്രഡയിേനജ്‌ 
പാേƃണിെn തരം  : 

(A) െസൻ്രടിെപƃൽ പാേƃൺ (B) ആനുലാർ പാേƃൺ 
(C) പാരലൽ പാേƃൺ (D) േറഡിയൽ പാേƃൺ 

9. aഡവ്ാൻസ്‌ഡ്‌ സ്‌േപസ്‌ േബാൺ െതർമൽ eമിഷൻ ആൻഡ്‌ റിƘkൻ 
േറഡിേയാമീƃർ (ASTER) enത്‌ താെഴpറയുn ഏത്‌ uപ്രഗഹവുമായി 
ബnെpŨ uയർn െറസലയ്ൂഷൻ റിേമാŨ് െസൻസിംഗ്‌ uപകരണമാണ്‌? 

(A) െടറാ (B) ലാൻഡ്‌സാƃ് 
(C) സ്‌േപാŨ് (D) െസnിനൽ 
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10. Which of the following statement are correct about the occurrences of Indian Monsoon? 

(i) Himalayas and Tibetan plateaus act as physical barriers and as a source of high 
level heat. 

(ii) Differential heating and cooling of Asian land mass and the Indian Ocean. 

(iii) A negative southern oscillation. 

(A) Only (i) and (iii)  

(B) Only (i) and (ii) 

(C) Only (ii) and (iii)  

(D) All of the above ((i), (ii) and (iii)) 

11. Arrange the following rivers of Kerala according to its length from highest to lowest : 

(i) Chandragiri 

(ii) Chaliyar 

(iii) Pamba 

(iv) Bharatapuzha 

(A) (ii), (iv), (i), (iii) (B) (iv), (iii), (ii), (i) 

(C) (iv), (i), (ii), (iii) (D) (iv), (iii), (i), (ii) 

12. Who secured three accolades in the 66th Grammy award for global music performance? 

(A) Ganesh Rajagopalan (B) Sankar Mahadevan 

(C) Uztad Zakir Hussain (D) Rakesh Chowrazya 

13. Which is the wrong statement related to Planning Commission in India? 

(A) The five-year planning commission was replaced by NITI Aayog in the  
year 2014 

(B) Green Revolution was implemented during the first five-year plan 

(C) 1966-69 years were plan holidays for the Indian economy 

(D) Mahalanobis model was followed in the second five-year plan 

14. Operation flood is related to : 

(A) Increase irrigation facilities  

(B) Increase marine fish cultivation 

(C) Increase inland fish cultivation  

(D) Increase milk production 
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10. inയ്ൻ മൺസൂണിെn സംഭവšെളkുറിc് താെഴpറയുn ്രപസ്‌താവനകളിൽ 
ഏതാണ്‌ ശരി? 
(i) ഹിമാലയവും ടിബƃൺ പീഠഭൂമികളും ഭൗതിക തടsšളായും uയർn 

േതാതിലുll താപtിെn uറവിടമായും ്രപവർtിkുnു 
(ii) ഏഷയ്ൻ ഭൂ്രപേദശെtയും inയ്ൻ മഹാസമു്രദെtയും വയ്തയ്സ്‌തമായ 

ചൂടാkലും തണുpിkലും 
(iii)  oരു െനഗƃീവ്‌ െതkൻ ആേnാളനം 

(A) (i), (iii) മാ്രതം  
(B) (i), (ii) മാ്രതം 

 (C) (ii), (iii) മാ്രതം  
 (D) മുകളിൽ പറŧവെയലല്ാം ((i), (ii), (iii)) 

11. േകരളtിെല താെഴpറയുn നദികെള aതിെn നീളം aനുസരിc് ഏƃവും 
uയരമുllതു  മുതൽ താെഴയുllതു വെര ്രകമീകരിkുക : 

(i) ച്രnഗിരി 
(ii) ചാലിയാർ 
(iii) പm 
(iv) ഭാരതpുഴ 

(A) (ii), (iv), (i), (iii) (B) (iv), (iii), (ii), (i) 
(C) (iv), (i), (ii), (iii) (D) (iv), (iii), (i), (ii) 

12. ആേഗാള സംഗീത ്രപകടനtിനുll 66-Lമത്‌ ്രഗാമി aവാർഡിൽ മൂn് aംഗീകാരšൾ 
േനടിയത്‌  ആരാണ്‌? 

(A) ഗേണഷ്‌ രാജേഗാപാലൻ (B) ശŠർ മഹാേദവൻ 
(C) uസ്‌താദ്‌ സkീർ ഹുൈസൻ (D) രാേകഷ്‌ ചൗരാസയ് 

13. inയ്യിെല  ആസൂ്രതണ കmീഷനുമായി ബnെpŨ െതƃായ ്രപസ്‌താവന 
ഏതാണ്‌? 

(A) പŦവtര ആസൂ്രതണ കmീഷനു പകരം 2014-ൽ NITI ആേയാഗ്‌ 
നിലവിൽ വnു 

(B) ആദയ് പŦവtര പdതിയിൽ ഹരിതവിpവം നടpിലാkി 
(C) 1966-69 വർഷšൾ inയ്ൻ സmദ്‌ വയ്വsയ്‌k് 

aവധിkാലമായിരുnു 
(D) രŪാം പŦവtര പdതിയിൽ മഹലേനാബിസ്‌ മാതൃക പിnുടർnു 

14. ഓpേറഷൻ Ƙഡ്‌ iതുമായി ബnെpŨിരിkുnു : 
(A) ജലേസചന സൗകരയ്šൾ വർdിpിkുക 
(B) കടൽ മtയ്കൃഷി വർdിpിkുക 
(C) uൾനാടൻ മtയ്കൃഷി വർdിpിkുക 

(D) പാലുത്‌പാദനം വർdിpിkുക 
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15. –––––––––– is the maximum limit of GST rate set by the GST Council of India. 

(A) 40% (B) 12% 

(C) 18% (D) 28% 

16. –––––––––– was founded in July 1948 under the Industrial Finance Corporation Act  
of 1948, with the primary goal of providing long and medium-term financing to big 
industrial firms.  

(A) IDBI (B) ICICI 

(C) IFCI (D) SIDBI 

17. The maximum area of land used for cultivation in India is used for the cultivation of :  

(A) Wheat (B) Rice 

(C) Sugarcane (D) Cotton 

18. Pancheshwar Multipurpose Project (PMP), sometimes seen in the news, is a bi-national 
hydropower project between which two countries? 

(A) India and Bhutan  

(B) India and Bangladesh 

(C) India and Afghanistan  

(D) India and Nepal 

19. What does Art.17 of the Constitution of India relate to? 

(A) Abolition of Untouchability and prohibition of its practice in any forms 

(B) Equality of opportunity in matters of public employment 

(C) Protection in respect of conviction for offences 

(D) Right to elementary education 

20. Which of the following statement is /are correct about the preamble of the Constitution of 
India? 

(i) By 42nd Constitutional Amendment Act four new words - Socialist, Secular, 
Democratic and Integrity - were added 

(ii) Preamble is based on the ‘Objectives Resolution’ moved by Jawaharlal Nehru in the 
Constituent Assembly 

(iii) Supreme Court held that the Preamble can be amended by the parliament but 
without destroying the ‘basic structure’ of the Constitution 

(A) Only (i) (B) Only (ii) and (iii) 

(C) Only (ii) (D) All ((i), (ii) and (iii)) are correct 



 

 

149/2024-M 

A  -9-

15. ജിeസ്‌ടി കൗൺസിൽ ഓഫ്‌ inയ് നിƆയിcിŨുll ജിeസ്‌ടി നിരkിെn 
പരമാവധി പരിധി —————————— ആണ്‌. 

(A) 40% (B) 12% 
(C) 18% (D) 28% 

16. വൻകിട വയ്വസായിക sാപനšൾk് ദീർഘകാലവും iടtരവുമായ 
ധനസഹായം നൽകുകെയn ്രപാഥമിക ലkയ്േtാെട, 1948-െല iൻഡസ്‌്രടിയൽ 
ഫിനാൻസ്‌ േകാർpേറഷൻ നിയമtിന്‌ കീഴിലാണ്‌ __________ 1948 ജൂൈലയിൽ 
sാപിതമായത്‌. 

(A) ഐഡിബിഐ (B) ഐസിഐസിഐ 
(C) ഐeഫ്‌സിഐ (D) eസ്‌ഐഡിബിഐ 

17. inയ്യിൽ കൃഷിk് uപേയാഗിkുn പരമാവധി വിസ്‌തീർŬം _________ 
കൃഷിk് uപേയാഗിkുnു. 

(A) േഗാതm് (B) aരി 
(C) കരിm് (D) പരുtി 

18. പേŦശവ്രം മൾŨി പർpസ്‌ േ്രപാജക്‌ƃ് (PMP), ചിലേpാൾ വാർtകളിൽ 
കാണാറുŪ്, iത്‌ ഏത്‌ രŪ് രാജയ്šൾ തmിലുll oരു ദവ്ി-േദശീയ ജലൈവദയ്ുത 
പdതിയാണ്‌? 

(A) inയ്യും ഭൂŨാനും  
(B) inയ്യും ബംgാേദശും 
(C) inയ്യും aഫ്‌ഗാനിsാനും  
(D) inയ്യും േനpാളും 

19. inയ്ൻ ഭരണഘടനയുെട ആർŨിkിൾ 17 enുമായി ബnെpŨിരിkുnു? 
(A) െതാŨുകൂടായ്‌മ നിർtലാkലും ഏെതŠിലും രൂപtിലുll aതിെn 

ആചാരം നിേരാധിkലും 
(B) െപാതു െതാഴിലിെn കാരയ്šളിൽ aവസര സമതവ്ം 
(C) കുƃšൾkുll ശിkാവിധിയുമായി ബnെpŨ സംരkണം 

(D) ്രപാഥമിക വിദയ്ാഭയ്ാസtിനുll aവകാശം 

20. inയ്ൻ ഭരണഘടനയുെട ആമുഖെt സംബnിc് താെഴpറയുn ്രപസ്‌താവന 

കളിൽ ഏതാണ്‌ ശരി?  

(i) 42-LP ഭരണഘടനാ േഭദഗതി നിയമtിലൂെട േസാഷയ്ലിs്, െസകയ്ുലർ, 
െഡേമാ്രകാƃിക്‌, in്രഗിƃി enീ നാല്‌ പുതിയ  വാkുകൾ േചർtു 

(ii) ഭരണഘടനാ നിർmാണ സഭയിൽ ജവഹർലാൽ െനഹ്‌റു aവതരിpിc 
‘ലkയ് ്രപേമയം’  aടിsാനമാkിയുllതാണ്‌ ആമുഖം  

(iii) ഭരണഘടനയുെട ‘aടിsാനഘടന’   നശിpിkാെത പാർലെമnിന്‌ ആമുഖം 
േഭദഗതി െചyാെമn് സു്രപീം േകാടതി വയ്kമാkി 

(A) (i) മാ്രതം (B)  (ii), (iii) മാ്രതം 
(C) (ii) മാ്രതം (D) eലല്ാം ((i), (ii), (iii)) ശരിയാണ്‌ 
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21. Which of the following statement is/are correct about the Election Commission of India? 

(i) Election commissioners hold office for a term of six years or until they attain the 
age of 62 years, whichever is earlier 

(ii) Elections to the Panchayats and municipalities are conducted by the State Election 
Commissions 

(iii) The chief election Commissioner and the other election commissioners enjoy equal 
powers and draw equal salary 

(A) Only (i) and (ii) (B) Only (ii) and (iii) 

(C) Only (ii) (D) All ((i), (ii) and (iii)) are correct 

22. Pick the wrong statement regarding the Comptroller and Auditor General of India  
(CAG) : 

(A) The CAG can only be removed by the Prime Minister of India on the same 
grounds and also in the same manner as a judge of the Supreme Court can be 
removed 

(B) The CAG hold office for a period of six years or upto the age of 65 years, 
whichever is earlier 

(C) The CAG audits and report on all expenditure from the Contingency Funds 
and Public Accounts of the Union and of the States 

(D) The CAG audits and report on the receipts and expenditure of Government 
companies 

23. The Central Government law/Scheme that was unanimously struck down by the  
five-judge Constitution Bench of the Supreme Court on February 15, 2024 as the bench 
found the Law/Scheme to be unconstitutional : 

(A) The Fiscal Responsibility and Budget Management Act, 2003 

(B) The Prevention of Money-Laundering Act, 2002 

(C) The Electoral Bond scheme that was introduced in the Finance Bill, 2017 
during Union Budget 2017-18 

(D) The Agnipath Scheme brought in by the Central government in 2022 

24. Which of the following statements is/are correct about the State Human Rights 
Commissions? 

(i) The commission cannot inquire into an act of Human Right violation after the 
expiry of one year of occurrence of that act 

(ii) Though appointed by the Governor, the chairperson and members of the 
Commission can only be removed by the President of India 

(iii) The Commission does not have the power to punish the violators of Human Rights 

(A) Only (i) (B) Only (i) and (ii) 

(C) Only (ii) and (iii) (D) All ((i), (ii) and (iii)) are correct 
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21. താെഴpറയുnവയിൽ ഏതാണ്‌ inയ്ൻ തിരെŧടുp് കmീഷെന സംബnിc് 
ശരിയായത്‌? 
(i) തിരെŧടുp് കmീഷണർമാർ ആറ്‌ വർഷെt കാലാവധിേയാ aെലല്Šിൽ 

62 വയs് തികയുnത്‌ വെരേയാ, ഏതാണ്‌ േനരെtയുllത്‌ 
(ii) പŦായtുകളിേലkും മുനിസിpാലിƃികളിേലkും തിരെŧടുp് 

നടtുnത്‌ സംsാന തിരെŧടുp് കmീഷനുകളാണ്‌ 
(iii) മുഖയ് തിരെŧടുp് കmീഷണർkും മƃ് തിരെŧടുp് കmീഷണർമാർkും 

തുലയ് aധികാരവും തുലയ് ശmളവും ലഭിkും  

(A) (i), (ii) മാ്രതം (B)  (ii), (iii) മാ്രതം 
(C) (ii) മാ്രതം (D)  eലല്ാം ((i), (ii), (iii)) ശരിയാണ്‌ 

22. കംേ്രടാളർ ആൻഡ്‌ ഓഡിƃർ ജനറൽ ഓഫ്‌ inയ് (സിeജി) സംബnിc് െതƃായ 
്രപസ്‌താവന തിരെŧടുkുക : 

(A) aേത കാരണtാൽ inയ്ൻ ്രപധാനമ്രnിk് മാ്രതേമ സിeജി നീkം 
െചyാൻ കഴിയൂ, aതുേപാെല തെn സു്രപീം േകാടതിയിെല oരു 
ജഡ്‌ജിെയ നീkം െചyാൻ കഴിയുn aേത രീതിയിൽ 

(B) സിeജി ഓഫീസ്‌ വഹിkുnത്‌ ആറ്‌ വർഷെt കാലയളവിേലേkാ 
65 വയs് വെരേയാ, ഏതാണ്‌ മുmേtത്‌ aത്‌ 

(C) യൂണിയെnയും സംsാനšളുെടയും ആകസ്‌മിക ഫŪുകളിൽ നിnും 
െപാതു akൗŪുകളിൽ നിnുമുll eലല്ാ െചലവുകളും സിeജി 
ഓഡിƃ് െചyുകയും റിേpാർŨ് െചyുകയും െചyുnു 

(D) ഗവൺെമn് കmനികളുെട വരവുെചലവുകൾ സംബnിc സിeജി 
ഓഡിƃ് െചyുകയും റിേpാർŨ് െചyുകയും െചyുnു 

23. നിയമം/സ്‌കീം ഭരണഘടനാ വിരുdമാെണn് െബŦ് കെŪtിയതിനാൽ 2024 
െഫ്രബുവരി 15-ന്‌ സു്രപീം േകാടതിയുെട aŦംഗ ഭരണഘടനാ െബŦ് 
ഏകകണ്‌ഠമായി റdാkിയ േക്രn സർkാർ നിയമം/പdതി  : 

(A) ഫിസ്‌kൽ െറസ്‌േപാൺസിബിലിƃി ആൻഡ്‌ ബഡ്‌ജƃ് മാേനജ്‌െമn് 
ആക്‌ട്‌, 2003 

(B) മണി ലാൻഡറിംഗ്‌ ്രപിവൻഷൻ നിയമം, 2002  
(C) 2017-18 െല േക്രn ബജƃിൽ 2017-ൽ ധനകാരയ് ബിലല്ിൽ aവതരിpിc 

iലക്‌ടറൽ േബാŪ് പdതി 
(D) 2022-ൽ േക്രn സർkാർ െകാŪുവn agിപഥ്‌ പdതി 

24. സംsാന മനുഷയ്ാവകാശ കmീഷനുകെള കുറിc് താെഴ പറയുnവയിൽ 
ഏതാണ്‌ ശരിയായത്‌? 

(i)  മനുഷയ്ാവകാശ ലംഘനം നടn് oരു വർഷtിനു േശഷം കmീഷന്‌ 
aേനവ്ഷിkാൻ കഴിയിലല് 

(ii)  ഗവർണർ നിയമിcാലും, കmീഷനിെല െചയർേപഴ്‌സെണയും aംഗšെളയും 
inയ്ൻ ്രപസിഡnിന്‌ മാ്രതേമ നീkം െചyാൻ കഴിയൂ 

(iii) മനുഷയ്ാവകാശšൾ ലംഘിkുnവെര ശിkിkാൻ കmീഷന്‌ aധികാരമിലല് 

(A) (i) മാ്രതം (B)  (i), (ii) മാ്രതം 

(C) (ii), (iii) മാ്രതം (D) eലല്ാം ((i), (ii), (iii)) ശരിയാണ്‌ 
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25. Which of the following statements is/are correct as per the Census of India 2011? 

(i) Most densely populated district of Kerala is Ernakulam 

(ii) Women outnumbered men in all districts of Kerala except Malappuram 

(iii) Kannur district has the highest sex ratio in Kerala 

(A) Only (i) and (ii) (B) Only (ii) and (iii) 

(C) Only (i) and (iii) (D) Only (iii) 

26. Which of the following is/are true regarding the literacy rates in Kerala as per the 2011 

census of India? 

 (i) Thiruvananthapuram has the highest literacy rate in Kerala 

 (ii) Idukki has the lowest literacy rates 

 (iii) The literacy rate of Kerala is 86 percent 

(A) only (ii) and (iii) (B) only (i) and (iii) 

(C) only (i) (D) none ((i), (ii) and (iii)) are true 

27. Which is/are true about Vayomithram project implemented in the State of Kerala? 

 (i) It caters to the elderly people who are above 70 years of age residing in rural areas 

 (ii) The project started functioning in 2017 

 (iii) There are no economic criteria for availing services under the project 

(A) only (ii) and (iii) (B) only (iii) 

(C) only (i) (D) none ((i), (ii) and (iii))  

28. The scheme for Differently Abled people run by the Government of Kerala : 

(A) Swasraya  (B) Mandahasam 

(C) Pariraksha (D) Samanwaya 

29. The name of the Android App launched by the Government of Kerala aimed at 

diagnosing and controlling lifestyle diseases among the people in the State of Kerala : 

(A) Koode (B) Aardram 

(C) Shaili (D) Arogyam 
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25. 2011-െല െസൻസസ്‌ ്രപകാരം iനിpറയുn ്രപസ്‌താവനകളിൽ ഏതാണ്‌ 

ശരിയായത്‌?  

(i) േകരളtിെല ഏƃവും ജനസാ്രnതയുll ജിലല് eറണാകുളമാണ്‌  

(ii) മലpുറം oഴിെക േകരളtിെല eലല്ാ ജിലല്കളിലും സ്‌്രതീകളുെട eŬം 
പുരുഷnാേരkാൾ കൂടുതലാണ്‌ 

(iii) േകരളtിൽ ഏƃവും കൂടുതൽ സ്‌്രതീ-പുരുഷ aനുപാതം ull ജിലല്യാണ്‌ 
കŬൂർ 

(A) (i),  (ii) മാ്രതം (B)  (ii), (iii) മാ്രതം 

(C) (i),  (iii) മാ്രതം (D)  (iii) മാ്രതം 

26. 2011-െല inയ്ൻ െസൻസസ്‌ ്രപകാരം േകരളtിെല സാkരതാ നിരkുമായി 
ബnെpŨ് iനിpറയുnവയിൽ ഏതാണ്‌ ശരി ? 

(i) േകരളtിൽ ഏƃവും uയർn സാkരതാ നിരk് തിരുവനnപുരമാണ്‌ 

(ii) ഏƃവും കുറŧ സാkരതാ നിരk് iടുkിയിലാണ്‌ 
(iii) േകരളtിെn സാkരതാ നിരk് 86 ശതമാനമാണ്‌ 

(A) (ii), (iii) മാ്രതം (B) (i), (iii) മാ്രതം 

(C) (i) മാ്രതം (D) ശരിയലല് ((i), (ii), (iii))  

27. േകരളtിെല വേയാമി്രതം പdതി നടpിലാkുnതിെന സംബnിc് ഏതാണ്‌ 
ശരി? 
(i) ്രഗാമ്രപേദശšളിൽ താമസിkുn 70 വയsിന്‌ മുകളിലുll ്രപായമായവെര 

iത്‌ പരിപാലിkുnു  
(ii) പdതി 2017-ൽ ്രപവർtനം ആരംഭിcു 
(iii) പdതിk് കീഴിൽ േസവനšൾ ലഭിkുnതിന്‌ സാmtിക മാനദū 

šെളാnുമിലല് 

(A) (ii), (iii) മാ്രതം (B) (iii) മാ്രതം 
(C) (i) മാ്രതം (D) ശരിയലല് ((i), (ii), (iii))  

28. ഭിnേശഷിയുllവർkായി സർkാർ നടtുn പdതി : 
(A) സവ്ാ്രശയ (B) മnഹാസം 
(C) പരിരk (D) സമനവ്യ 

29. േകരളtിെല ജനšൾkിടയിൽ ജീവിതൈശലീ േരാഗšൾ കŪുപിടിkുnതിനും 
നിയ്രnിkുnതിനും ലkയ്മിŨ് േകരള സർkാർ പുറtിറkിയ ആൻേ്രഡായിഡ്‌ 
ആpിെn േപര്‌ : 

(A) കൂെട (B) ആർ്രദം 
(C) ൈശലി (D) ആേരാഗയ്ം 
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30. Who headed the Supreme Court bench in the Vishaka and Ors. V State of Rajasthan 

(1997) that delivered the landmark judgement dealing with sexual harassment at the 

workplace and provided guidelines to deal with? 

(A) Mr. Justice R.M. Lodha  

(B) Mr. Justice J.S. Verma 

(C) Mr. Justice Dipak Misra  

(D) Mr. Justice Ranjan Gogoi 

31. Which part of the Constitution of India empowers Parliament for the establishment of 

administrative tribunals for adjudication of disputes related to the service of persons 

appointed to public services of centre and states? 

(A) Part XI-A  

(B) Part XIII-A 

(C) Part XIV-A  

(D) Part IX 

32. Which of the following statement is/are wrong regarding the Right to Information Act, 

2005? 

 (i) Information sought may be refused by Public Information Officers if disclosure of 

such information could lead to incitement of an offence 

 (ii) Public Information Officers are required to give information within 48 hours of the 

receipt of request for information if the information sought concerns the life and 

liberty of a person 

 (iii) Citizens belonging to Below Poverty Line (BPL)are exempted from the payment of 

basic application fee while seeking information under the Act 

(A) only (ii) (B) only (i) 

(C) only (iii) (D) none ((i), (ii) and (iii)) are wrong 

33. The percentage of area under forest in Kerala as per the land use data, 2022-23 of the 

Department of Economics and Statistics : 

(A) 14.06 percent (B) 36.90 percent 

(C) 19.74 percent (D) 27.83 percent 
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30. േജാലിsലെt ൈലംഗികാതി്രകമം ൈകകാരയ്ം െചyുn സു്രപധാന വിധി 
പുറെpടുവിkുകയും ൈകകാരയ്ം െചyുnതിനുll മാർgനിർേdശšൾ 
നൽകുകയും െചയ്‌ത രാജാsാനിെല വിശാഖ ആൻഡ്‌ ഓർ. േവ. േsƃ് ഓഫ്‌ 
രാജsാൻ (1997) സു്രപീം േകാടതി െബŦിന്‌ േനതൃതവ്ം നല്‌കിയത്‌ ആരാണ്‌? 

(A) ്രശീ. ജsിസ്‌ ആർ.eം. േലാധ  

(B) ്രശീ. ജsിസ്‌ െജ.eസ്‌. വർm 
(C) ്രശീ. ജsിസ്‌ ദീപക്‌ മി്രശ  
(D) ്രശീ.   ജsിസ്‌ രഞ്‌ജൻ െഗാേഗായ്‌ 

31. േക്രntിെnയും സംsാനšളുെടയും െപാതുേസവനšളിേലk് നിയമിkെpŨ 
വയ്kികളുെട േസവനšളുമായി ബnെpŨ തർkšൾ തീർpാkുnതിന്‌ 
aഡ്‌മിനിസ്‌േ്രടƃീവ്‌ ്രടിബയ്ൂണലുകൾ sാപിkുnതിന്‌ പാർലെമnിെന 
aധികാരെpടുtുnത്‌ inയ്ൻ ഭരണഘടനയുെട ഏത്‌ ഭാഗമാണ്‌? 

(A) ഭാഗം XI-A  

(B) ഭാഗം XIII-A 

(C) ഭാഗം XIV-A  

(D) ഭാഗം IX 

32. വിവരാവകാശ നിയമം, 2005 സംബnിc് താെഴ പറയുnവയിൽ ഏതാണ്‌ 
െതƃ്?  

(i) atരം വിവരšൾ െവളിെpടുtുnത്‌ oരു കുƃകൃതയ്tിന്‌ 
േ്രപരിpിkുnതിേലk് നയിcാൽ, ആവശയ്െpടുn വിവരšൾ പbിക്‌ 
iൻഫർേമഷൻ ഓഫീസർമാർ നിരസിേckാം. 

(ii) പbിക്‌ iൻഫർേമഷൻ ഓഫീസർമാർ oരു വയ്kിയുെട ജീവനും 
സവ്ാത്രnയ്വും സംബnിc വിവരšൾ aേനവ്ഷിkുnുെŪŠിൽ, 

വിവരšൾkായുll aേപk ലഭിc് 48 മണിkൂറിനുllിൽ വിവരšൾ 
നൽേകŪതുŪ്. 

(iii) ദാരി്രദയ്േരഖയ്‌k് താെഴയുll (ബിപിeൽ) പൗരnാെര നിയമtിന്‌ കീഴിൽ 
വിവരšൾ േതടുേmാൾ aടിsാന aേപkാ ഫീസ്‌ aടയ്‌kുnതിൽ 
നിn് oഴിവാkിയിരിkുnു 

(A) (ii) മാ്രതം (B) (i) മാ്രതം 
(C) (iii) മാ്രതം (D) െതƃിലല്  ((i), (ii), (iii)) 

33. ഡിpാർŨ് െമn് ഓഫ്‌ ikേണാമിക്‌സ്‌ ആൻഡ്‌ sാƃിsിക്‌സിെn 2022-23-െല 
ഭൂവിനിേയാഗ ഡാƃ ്രപകാരം േകരളtിെല വനtിൻകീഴിലുll വിസ്‌തൃതിയുെട 
ശതമാനം : 

(A) 14.06 ശതമാനം (B) 36.90 ശതമാനം 
(C) 19.74 ശതമാനം (D) 27.83 ശതമാനം 
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34. The Mahatma Gandhi National Rural Employment Guarantee Act, 2005 (MGNREGA) 

mandates which of the following? 

(i) The Gram Panchayat Secretary is the registration officer under Mahatma Gandhi 

NREGS. 

(ii) Providing not less than Two Hundred days of unskilled manual work as a 

guaranteed employment in a financial year to every household in rural areas 

(iii) Hundred percent implementation of the Scheme is at the Gram Panchayat level 

(A) Only (ii) (B) Only (iii) 

(C) Only (i) and (ii) (D) Only (ii) and (iii) 

35. Pick the wrong statement about the Kochi Water Metro Project : 

(A) Diesel boats used in the water metro project are manufactured by Cochin 

Shipyard Limited 

(B) Kochi, is India’s first city to have a Water Metro Project 

(C) Kochi water metro project plans to connect 10 islands along a network of 

routes that span 78 kms benefitting over 33000 islanders 

(D) A major part of the project is financed under Indo-German Financial 

Cooperation with a long-term loan agreement of 85 million 

36. In which place was the International Labour Conclave organised by the Government of 

Kerala, from May 24 to 26, 2023. 

(A) Ernakulam (B) Kannur 

(C) Palakkad (D) Thiruvananthapuram 

37. What is the scientific name for the Adam’s apple found on the throat? 

(A) Larynx (B) Trachea 

(C) Epiglottis (D) Oesophagus 

38. Which Vitamin is synthesized by bacteria in Human body? 

(A) Vit D (B) Vit C 

(C) Vit K (D) Vit E 
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34. മഹാtാഗാnി േദശീയ ്രഗാമീണ െതാഴിലുറp് നിയമം, 2005 (MGNREGA) 
iനിpറയുnവയിൽ ഏതാണ്‌ നിർബnമാkുnത്‌? 
(i)  ്രഗാമപŦായt് െസ്രകŨറി മഹാtാഗാnി NREGS ന്‌ കീഴിൽ രജിസ്‌േ്രടഷൻ 

ഓഫീസറാണ്‌. 
(ii)  ്രഗാമീണ േമഖലയിെല eലല്ാ വീടുകൾkും oരു സാmtിക വർഷtിൽ 

െതാഴിലുറp് െതാഴിലായി iരുനൂറ്‌ ദിവസtിൽ കുറയാt 
aവിദഗ്‌ധർk് േജാലി നൽകുക 

(iii)  പdതിയുെട നൂറ്‌ ശതമാനം നടpാkൽ ്രഗാമപŦായt് തലtിലാണ്‌ 

(A) (ii) മാ്രതം (B) (iii) മാ്രതം 

(C) (i), (ii) മാ്രതം (D) (ii), (iii) മാ്രതം 

35. െകാcി വാŨർ െമേ്രടാ പdതിെയkുറിcുll െതƃായ ്രപസ്‌താവന തിരെŧടു 

kുക : 

(A) വാŨർ െമേ്രടാ പdതിയിൽ uപേയാഗിkുn ഡീസൽ േബാŨുകൾ 
നിർmിkുnത്‌ െകാcിൻ ഷിp് യാർഡ്‌ ലിമിƃഡ്‌ ആണ്‌ 

(B) വാŨർ െമേ്രടാ പdതിയുll inയ്യിെല ആദയ്െt നഗരമാണ്‌ െകാcി 

(C) െകാcി വാŨർ െമേ്രടാ പdതി 33000 ദവ്ീപുകാർk് ്രപേയാജനം 

െചyുn 78 കിേലാമീƃർ ൈദർഘയ്മുll റൂŨുകളുെട ശൃംഖലയിലൂെട 

10 ദവ്ീപുകെള ബnിpിkാൻ പdതിയിടുnു 

(D) പdതിയുെട oരു ്രപധാന ഭാഗം iേnാ-ജർmൻ സാmtിക 

സഹകരണtിന്‌ കീഴിൽ 85 ദശലktിെn ദീർഘകാല വായ്‌പാ 
കരാറിൽ ധനസഹായം നൽകുnു 

36. 2023 െമയ്‌ 24 മുതൽ 26 വെര േകരള സർkാർ സംഘടിpിc inർനാഷണൽ 

േലബർ േകാൺേkവ്‌ ഏത്‌ sലtാണ്‌ നടnത്‌? 

(A) eറണാകുളം (B) കŬൂർ 

(C) പാലkാട്‌ (D) തിരുവനnപുരം 

37. െതാŪയിൽ കാണെpടുn ആദാമിെn ആpിളിെn ശാസ്‌്രതീയ നാമം : 

(A) ലാറിൻസ്‌ (B) ്രടാkിയ 

(C) epിേgാŨിസ്‌ (D) ഓേസാപാഗസ്‌ 

38. മനുഷയ്ശരീരtിൽ ബാക്‌ടീരിയകൾ സമനവ്യിpിkുn വിƃാമിൻ ഏത്‌? 

(A) വിƃാമിൻ D (B) വിƃാമിൻ C  

(C) വിƃാമിൻ K (D) വിƃാമിൻ E 
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39. The Vector organism for Leishmaniasis is : 

(A) Mosquito (B) Rat 

(C) Pig (D) Sand fly 

40. The Kerala government health department launched the ‘Aardram Mission’ with the 
objective of : 

(A) Expanding medical tourism in the state 

(B) Making government hospitals more patient friendly 

(C) Encouraging private healthcare investment 

(D) Promoting traditional medicine practices 

41. Which of the following is not a characteristic of Type I-Diabetes? 

(A) Abnormal Carbohydrate Metabolism 

(B) It is Insulin Dependent 

(C) It is an Autoimmune disorder 

(D) The patient will be reliant on exogenous Insulin 

42. The concept of ‘planetary boundaries’ refers to : 

(A) The limits of human population growth 

(B) The critical thresholds for environmental sustainability 

(C) The potential for colonizing other planets 

(D) The economic costs of environmental protection 

43. Artificial Intelligence (AI) is rapidly evolving and impacting various fields. What is an 
example of a potential application of AI in healthcare? 

(A) Providing emotional support through chatbots 

(B) Assisting doctors in analysing medical images for faster diagnoses 

(C) Replacing the need for human nurses in hospitals 

(D) Automating administrative tasks in healthcare facilities 

44. Space debris is a growing concern for satellites and spacecraft. What is the ISRO project 
on space debris? 

(A) Netra (B) Gaganyaan 

(C) INSPIRES (D) Astrosat  
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39. ലീഷ്‌മാനിയാസിസിനുll െവക്‌ƃർ ഓർഗാനിസം  : 

(A) െകാതുക്‌ (B) eലി 
(C) പnി (D) സാn് ൈƘ 

40. േകരള സർkാർ ആേരാഗയ്വകുp് നടpിലാkിയ 'ആർ്രദം മിഷൻ'  - െn 
ലkയ്ം : 

(A) സംsാനt് െമഡിkൽ ടൂറിസം വികസിpിkുക 

(B) സർkാർ ആശുപ്രതികെള കൂടുതൽ േരാഗീ സൗഹൃദമാkുക 
(C) സവ്കാരയ് ആേരാഗയ് സംരkണ നിേkപം േ്രപാtാഹിpിkുക 

(D) പരmരാഗത ൈവദയ്ശാസ്‌്രത രീതികൾ േ്രപാtാഹിpിkുക 

41. താെഴpറയുnവയിൽ ൈടp് I--ഡയബƃിസിെn സവ്ഭാവമലല് : 
(A) aസാധാരണമായ കാർേബാൈഹേ്രഡƃ് െമƃേബാളിസം 

(B) iത്‌ iൻസുലിൻ ആ്രശിതമാണ്‌ 
(C) iെതാരു സവ്യം േരാഗ്രപതിേരാധ േരാഗമാണ്‌ 
(D) േരാഗി ബാഹയ്iൻസുലിൻ ആ്രശയിkും 

42. ‘്രഗഹ aതിരുകൾ' en ആശയം സൂചിpിkുnത്‌: 

(A) മനുഷയ് ജനസംഖയ്ാ വളർcയുെട പരിധികൾ 

(B) പാരിsിതിക സുsിരതയുെട നിർണായക പരിധികൾ 

(C) മƃ് ്രഗഹšെള േകാളനിവൽkരിkാനുll സാധയ്ത 

(D) പരിsിതി സംരkണtിെn സാmtിക െചലവ്‌ 

43. ആർŨിഫിഷയ്ൽ inലിജൻസ്‌ (AI) aതിേവഗം വികസിkുകയും വിവിധ 
േമഖലകെള സവ്ാധീനിkുകയും െചyുnു. ആേരാഗയ് സംരkണtിൽ AI-യുെട 
സാധയ്തയുll ആpിേkഷെn uദാഹരണം enാണ്‌? 

(A) ചാƃ്േബാŨുകളിലൂെട ൈവകാരിക പിnുണ നൽകുnു 

(B) േവഗtിലുll േരാഗനിർണയtിനായി െമഡിkൽ iേമജുകൾ 
വിശകലനം െചyുnതിൽ േഡാക്‌ടർമാെര സഹായിkുnു 

(C) ആശുപ്രതികളിൽ മനുഷയ് നഴ്‌സുമാരുെട ആവശയ്ം മാƃിsാപിkുക 

(D) ആേരാഗയ് സംരkണ സൗകരയ്šളിെല ഭരണപരമായ േജാലികൾ 
ഓേŨാേമƃ് െചyുnു 

44. ബഹിരാകാശ aവശിƈšൾ uപ്രഗഹšൾkും ബഹിരാകാശ വാഹനšൾkും 
വർdിcുവരുn ആശŠയാണ്‌. ബഹിരാകാശ aവശിƈšെളkുറിcുll 
ഐeസ്‌ആർo പdതി enാണ്‌? 

(A) േന്രത (B) ഗഗൻയാൻ 

(C) iൻസ്‌പേയഴ്‌സ്‌ (D) ആസ്‌േ്രടാസാƃ് 
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45. What would be the weight of an object on the surface of moon, if it weighs 196 N on the 

earth’s surface? 

(A) 35 N (B) 98 N 

(C) 33 N (D) 100 N 

46. A loaded cab of an elevator has mass of 2500 kg and moves 250 m up the shaft in 50 sec 

at constant speed. At what average rate does the force from the cable do work on the 

cab? 

(A) 1250 W (B) 100 W 

(C) 1000 W (D) 125 kW 

47. An ambulance with a siren of frequency 1000 Hz overtakes and passes a cyclist pedaling 

a bike at 3 m/s. If the cyclist hears the siren with a frequency of 900 Hz after the 

ambulance is passed, the velocity of the ambulance is : 

(A) 41 m/s (B) 45 m/s 

(C) 35 m/s (D) 50 m/s 

48. Which space agency launched the INFUSE Rocket mission? 

(A) Russian Space Agency 

(B) Indian Space Research Organisation 

(C) National Aeronautics and Space Administration 

(D) European Space Agency 

49. If X diffuses 10 times faster than Y, what will be the molecular weight ratio X : Y? 

(A) 10 (B) 1/10 

(C) 100 (D) 1/100 

50. Among the following equimolal aqueous solutions, the boiling point will be lowest for : 

(A) BaCl2 (B) NaCl 

(C) Ca(NO3)2 (D) La(NO3)3 
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45. ഭൂമിയുെട uപരിതലtിൽ 196 N  ഭാരമുെŪŠിൽ ച്രnെn uപരിതലtിലുll 
oരു വസ്‌തുവിെn ഭാരം e്രതയായിരിkും? 

(A) 35 N (B) 98 N 

(C) 33 N (D) 100 N 

46. oരു eലിേവƃറിെn േലാഡഡ്‌ കയ്ാബിന്‌ 2500 കിേലാ്രഗാം പിūമുŪ്, 
sിരമായ േവഗതയിൽ 50 െസkൻഡിനുllിൽ 250 മീƃർ മുകളിേലk് 
നീšുnു. േകബിളിൽ നിnുll ശkി e്രത ശരാശരി നിരkിലാണ്‌ കയ്ാബിൽ 
്രപവർtിkുnത്‌? 

(A) 1250 W (B) 100 W 

(C) 1000 W (D) 125 kW 

47. 1000 Hz ആവൃtിയിലുll ൈസറണുll ആംബുലൻസ്‌ 3 m/s േവഗതയിൽ oരു 
ൈബk് ചവിŨുn oരു ൈസkിളിsിെന മറികടkുകയും കടnുേപാകുകയും 
െചyുnു. ആംബുലൻസ്‌ കടnുേപായതിന്‌ േശഷം ൈസkിs് ൈസറൺ 900 
െഹർട്‌സ്‌ ആവൃtിയിൽ േകൾkുnുെവŠിൽ, ആംബുലൻസിെn േവഗത : 

(A) 41 m/s  

(B) 45 m/s 

(C) 35 m/s  

(D) 50 m/s 

48. ഏത്‌ ബഹിരാകാശ ഏജൻസിയാണ്‌ INFUSE  േറാkƃ് ദൗതയ്ം വിേkപിcത്‌? 

(A) റഷയ്ൻ ബഹിരാകാശ ഏജൻസി 

(B) inയ്ൻ ബഹിരാകാശ ഗേവഷണ sാപനം 

(C) നാഷണൽ eയേറാേനാŨിക്‌സ്‌ ആൻഡ്‌ സ്‌േപസ്‌ aഡ്‌മിനിസ്‌േ്രടഷൻ 

(D) യൂേറാപയ്ൻ ബഹിരാകാശ ഏജൻസി 

49. Y--െയkാൾ 10 മടš് േവഗtിൽ X വയ്ാപിkുകയാെണŠിൽ, X : Y en തnാ്രതാ 
ഭാരം aനുപാതം enായിരിkും? 

(A) 10 (B) 1/10 

(C) 100 (D) 1/100 

50. iനിpറയുn iകവ്ിേമാളൽ ജലീയ ലായനികളിൽ, ഏതിനാണ്‌ തിളpിkൽ 
ഏƃവും താഴ്‌nതായിരിkും? 

(A) BaCl2 (B) NaCl 

(C) Ca(NO3)2 (D) La(NO3)3 



 

 

149/2024-M 

A -22-

51. The United Nations proclaimed 2025 to be the International Year of 

(A) Millets  

(B) Water Cooperation 

(C) Quantum Science and Technology  

(D) Periodic Table 

52. Which aqueous solution is most acidic? 

(A) 0.5 M NaNO3  

(B) 1 M K2CO3 

(C) 0.1 M FeCl3  

(D) 0.01 M NaCN 

53. Which among the following is correct when considering the Olympic Order Award of the 

International Olympic Committee (IOC) ? 

 (i) The highest award of the International Olympic Committee was awarded to 

Abhinav Bindra, the Shooting legend of India for the year 2024. 

 (ii) The Olympic Order has been awarded to him during the 142nd International 

Olympic Committee session in Paris. 

(A) Only (i) 

(B) Only (ii) 

(C) Both (i) and (ii) 

(D) Neither (i) nor (ii) 

54. Chronologically arrange the following Malayalam novels with their years of publishing : 

 (i) Chemmen – Thakazhi Sivasankara Pillai 

 (ii) Ballyakalasakhi – Vaikom Muhammed Basheer 

 (iii) Odayil Ninnu – P. Kesava Dev 

 (iv) Ummachu  –  Uroob  

(A) (ii), (iii), (i), (iv) 

(B) (iii), (ii), (iv), (i) 

(C) (iii), (ii),(i), (iv) 

(D) (i), (iii), (ii), (iv) 
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51. ഐകയ്രാ്രƈസഭ 2025 __________ anാരാ്രƈ വർഷമായി ്രപഖയ്ാപിcു : 

(A) മിലല്ƃ് 
(B) ജല സഹകരണം 

(C) കവ്ാŪം സയൻസ്‌ ആൻഡ്‌ െടക്‌േനാളജി 
(D) ആവർtന പŨിക 

52. ഏത്‌ ജലീയ ലായനിയാണ്‌ ഏƃവും aസിഡിƃി ullത്‌? 

(A) 0.5 M NaNO3  

(B) 1 M K2CO3 

(C) 0.1 M FeCl3  

(D) 0.01 M NaCN 

53. inർനാഷണൽ oളിmിക്‌ കmിƃിയുെട (IOC) oളിmിക്‌ ഓർഡർ aവാർഡ്‌ 
പരിഗണിkുേmാൾ iനിpറയുnവയിൽ ഏതാണ്‌ ശരി?  

(i) 2024 െല inയ്യുെട ഷൂŨിംഗ്‌ iതിഹാസമായ aഭിനവ്‌ ബി്രnയ്‌k് 
anാരാ്രƈ oളിmിക്‌ കmിƃിയുെട പരേമാnത ബഹുമതി ലഭിcു. 

(ii) പാരീസിൽ നടn 142-Lമത്‌ anാരാ്രƈ oളിmിക്‌ കmിƃി െസഷനിൽ 
aേdഹtിന്‌ oളിmിക്‌ ഓർഡർ ലഭിcു 

(A) (i) മാ്രതം  

(B) (ii) മാ്രതം 

(C) (i), (ii) iവ രŪും  

(D) (i) uം aലല് (ii) uം aലല് 

 

54. താെഴpറയുn മലയാളം േനാവലുകൾ aവയുെട ്രപസിdീകരണ 
വർഷšേളാെടാpം കാല്രകമtിൽ ്രകമീകരിkുക : 

(i) െചmീൻ       -  തകഴി ശിവശŠരpിll 

(ii) ബാലയ്കാലസഖി -  ൈവkം മുഹmദ്‌ ബഷീർ 

(iii) ഓടയിൽ നിn്  -  പി.  േകശവേദവ്‌   

(iv) umാcു        -   uറൂബ്‌ 

(A) (ii), (iii), (i), (iv) 

(B) (iii), (ii), (iv), (i) 

(C) (iii), (ii), (i), (iv) 

(D) (i), (iii), (ii), (iv) 
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55. Which of the following is correct when considering Kathaprasangam¸ the Malayalam 
storytelling? 

 (i) 2024 is the centenary year of Kathaprasangam. 
 (ii) C A Sathyadevan was the progenitor of Kathaprasangam with Chandalabhikshuki 

of Kumaranasan as his first theme 

 (iii) The first venue for performing the new art form of Kathaprasangam was a school 
opened by Kelappanasan at Vadakkinppuram near North Paravur. 

(A) Only (i) and (ii) 

(B) Only (ii) and (iii) 

(C) Only (i) and (iii) 

(D) All ((i), (ii) and (iii)) are correct 

56. Match the following List A (Film Directors) with List B (Malayalam cinemas with 
Muslim Culture) : 
  List A    List B 
(a) T.R. Sundaram   (i) Maniyara 
(b) M. Krishnan Nair  (ii) Kandambecha Kottu 
(c) P. Bhaskaran   (iii) Kuppivala 
(d) S.S. Rajan   (iv) Thurakkatha Vathil   

  (A) (a)-(iii), (b)-(i) (c)-(ii), (d)-(iv) 

  (B) (a)-(ii), (b)-(i), (c)-(iv), (d)-(iii) 

  (C) (a)-(iii), (b)-(i), (c)-(iv), (d)-(ii) 

  (D) (a)-(ii), (b)-(iii), (c)-(i), (d)-(iv) 

57. Who wrote the Malayalam book, Padeniyude Geevathalam on the art form of Padayani? 

(A) Kadamanitta Vasudevan Pillai 

(B) Kadamanitta Ramakrishna 

(C) R.C. Karipath 

(D) Kavalam Narayana Panikkar 

58. Which among the following is not correct when considering Indian Hockey? 

(A) Sansarpur in Jalandhar district (Punjab) is known as the nursery of Indian 
hockey 

(B) A hockey player turned politician Aslam Sher Khan became the Central 
Minister for India 

(C) The height of the blackboard of the field hockey goal is 26 inches 

(D) Mariyamma Koshay was the first Malayali to become the President of Hockey 
India 
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55. മലയാളം കഥാ്രപസംഗം പരിഗണിkുേmാൾ iനിpറയുnവയിൽ ഏതാണ്‌ ശരി? 

(i) 2024 കഥാ്രപസംഗtിെn ശതാbി വർഷമാണ്‌. 

(ii) കുമാരനാശാെn ചūാലഭിkുകിെയ തെn ആദയ് ്രപേമയമാkിയ 
കഥാ്രപസംഗtിെn uപjാതാവ്‌ സി e സതയ്േദവനായിരുnു 

(iii) വടkൻ പറവൂരിനടുt് വടkിൻപുരം േകളpനാശാൻ തുറn 
വിദയ്ാലയമാണ്‌ കഥാ്രപസംഗം en പുതിയ കലാരൂപം 
aവതരിpിkുnതിനുll ആദയ് േവദി. 
(A) (i), (ii) മാ്രതം  

(B) (ii), (iii) മാ്രതം 

(C) (i), (iii) മാ്രതം  

(D) eലല്ാം ((i), (ii), (iii)) ശരിയാണ്‌ 

56. iനിpറയുn ലിs് A (സിനിമ സംവിധായകർ) ലിs് B (മുsീം സംസ്‌കാരമുll 
മലയാളം സിനിമകൾ) യുമായി െപാരുtെpടുtുക : 

 ലിs് A ലിs് B 
(a) ടി.ആർ. സുnരം    (i) മണിയറ 
(b) eം. കൃഷ്‌ണൻ നായർ  (ii) കŪംെബc േകാŨ് 
(c) പി. ഭാസ്‌കരൻ    (iii) കുpിവള 
(d) eസ്‌.eസ്‌. രാജൻ   (iv) തുറkാt വാതിൽ  

(A) (a)-(iii), (b)-(i) (c)-(ii), (d)-(iv) 
(B) (a)-(ii), (b)-(i), (c)-(iv), (d)-(iii) 
(C) (a)-(iii), (b)-(i), (c)-(iv), (d)-(ii) 
(D) (a)-(ii), (b)-(iii), (c)-(i), (d)-(iv) 
 

57. പടയണി en കലാരൂപെtkുറിc് പേടണിയുെട ഗീവതളം en മലയാളം 
പുസ്‌തകം eഴുതിയത്‌ ആരാണ്‌? 

(A) കടmനിŨ വാസുേദവൻ പിll  

(B) കടmനിŨ രാമകൃഷ്‌ണ 
(C) ആർ. സി. കരിpt് 
(D) കാവാലം നാരായണ പണിkർ 

58. inയ്ൻ േഹാkി പരിഗണിkുേmാൾ iനിpറയുnവയിൽ ഏതാണ്‌ ശരിയലല്?  

(A) ജലnർ ജിലല്യിെല (പŦാബ്‌) സൻസാർപൂർ inയ്ൻ േഹാkിയുെട 
നഴ്‌സറി enറിയെpടുnു 

(B) oരു േഹാkി കളിkാരൻ, രാ്രƈീയkാരനായി മാറിയ asം 
െഷർഖാൻ inയ്യുെട േക്രnമ്രnിയായി 

(C) ഫീൽഡ്‌ േഹാkി േഗാളിെn bാk് േബാർഡിെn uയരം 26 iŦ് 
ആണ്‌ 

(D) inയ്ൻ േഹാkിയുെട ്രപസിഡnായ ആദയ് മലയാളിയാണ്‌ മറിയാm 
േകാശി 
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59. Which of the following was the motive of Prisha Tapre, the teenage swimmer of 
India and UK to cross the famous English Channel recently? 

(A) To raise funds for building a school at her father’s home village in 
Maharashtra 

(B) To raise funds for a charity organization to provide food for needy children in 
India and UK 

(C) To propagate harmony among various religious communities all over the 
world 

(D) To create awareness against intoxication and substance abuse 

60. Small and very fast memory that is placed between CPU and main memory : 

(A) ROM 

(B) CACHE 

(C) BUS 

(D) USB 

61. Which of the following is not a system software? 

(A) Firefox 

(B) Unix 

(C) Device driver 

(D) None of these 

62. An example for an empty tag in HTML is : 

(A) <html> 

(B) <img> 

(C) <body> 

(D) <b> 

63. Who is known as the “Father of AI”? 

(A) Fisher Ada 

(B) Alan Turing 

(C) John McCarthy 

(D) Allen Newell 

64. The official website for chatgpt is : 

(A) www.openai.com 

(B) www.gptchat.com 

(C) www.chatgpt.com 

(D) None of the above 
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59. inയ്യും യുെകയ്‌kും iടയിൽ iംgീഷ്‌ ചാനൽ മുറിcുകടn കൗമാരkാരിയായ 
നീnൽ താരം ്രപിഷ താെ്രപയുെട ലkയ്ം enാണ്‌? 

(A) മഹാരാ്രƈയിെല aവളുെട പിതാവിെn സവ്nം ്രഗാമtിൽ oരു 
സ്‌കൂൾ നിർmിkുnതിനുll നിധി േശഖരിkുക 

(B) inയ്യിെലയും യുെകയിെലയും നിർധനരായ കുŨികൾk് ഭkണം 
നൽകുnതിന്‌ oരു ചാരിƃി ഓർഗൈനേസഷനായി ഫŪ് േശഖരിkുക 

(C) േലാകെമmാടുമുll വിവിധ മതസമൂഹšൾkിടയിൽ സൗഹാർdം 
്രപചരിpിkുക 

(D) ലഹരിkും ലഹരിവസ്‌തുkളുെട ദുരുപേയാഗtിനും eതിെര 
aവേബാധം സൃƈിkുക 

60. സിപിയുവിനും ്രപധാന െമmറിkുമിടയിൽ sാപിcിരിkുn െചറുതും 

വലുതുമായ െമmറി  : 

(A) ROM  
(B) CACHE 
(C) BUS  
(D) USB 

61. താെഴpറയുnവയിൽ സിsം േസാഫ്‌ƃ് െവയർ aലല്ാtത്‌ ഏതാണ്‌? 

(A) ഫയർേഫാക്‌സ്‌  

(B) യുണിക്‌സ്‌ 
(C) ഡിൈവസ്‌ ൈ്രഡവർ  
(D) േമൽpറŧവെയാnുമലല് 

62. HTML-െല oരു ശൂനയ്മായ ടാഗിനു oരു uദാഹരണം iതാണ്‌ : 
(A) <html> (B) <img> 
(C) <body> (D) <b> 

63. ‘‘AI യുെട പിതാവ്‌’’ enറിയെpടുnത്‌  : 

(A) ഫിഷർ aഡ (B) aലൻ ടൂറിംഗ്‌ 
(C) േജാൺ മkാർtി (D) aലൻ നയ്ൂെവൽ 

64. chatgpt--നുll ഔേദയ്ാഗിക െവബ്‌ൈസƃ് iതാണ്‌ : 

(A) www.openai.com  
(B) www.gptchat.com 
(C) www.chatgpt.com  
(D) േമൽpറŧവെയാnുമലല് 
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65. Find out which of the statements are correct : 

 (i) According to the Consumer Protection Act 2019, the district Commission has 
jurisdiction to entertain complaints where the value of goods or services is less 
than twenty lakhs 

 (ii) The provisions for guardianship under the Rights of Persons with Disability Acts 
2016 is for permanent nature of guardianship 

 (iii) Under the Protection of Women from Domestic Violence Act 2005, a woman in a 
domestic relationship shall have the right to the shared household if she has any 
right, title, or beneficial interest in it 

 (iv) The chairperson of the Kerala State Commission for SC/ST  shall be nominated 
from among the members of SC and ST 

(A) All statements are correct 

(B) Statement (iv) only is correct 

(C) Statements (ii) and (iv) are correct 

(D) Statements (i), (ii) and (iii) are correct 

66. Who is the first Chairperson of the National Women Commission of India? 

(A) Mohini Giri (B) Vibha Parthasarathy 

(C) Jayanthi Patnaik (D) Dr. Poornima Adwani 

67. Find  out the correct options from the following : 

 (i) The special courts created under SC/ST (Prevention of Atrocities) Act 1989 have 
the status of High Court 

 (ii) A childless senior citizen has no right under the Maintenance and Welfare of 
Parents and Senior Citizens Act 2007 

 (iii)  No party has the right to legal representation before the Maintenance Tribunal 

 (iv) The Administrative Tribunal was established according to the 42nd Amendment of 
the Constitution 

(A) All the statements are correct 

(B) Only statements (i) and (ii) are correct 

(C) Only statements (iii) and (iv) are correct 

(D) Statements (ii) and (iii) are correct 

68. Who is competent to issue a Certificate of Identity for transgenders? 

(A) District Medical Officer 

(B) Chief Medical Superintend 

(C) Any Civil Surgeon 

(D) District Magistrate 
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65. ഏത്‌ ്രപസ്‌താവനകളാണ്‌ ശരിെയn് കെŪtുക : 

(i) uപേഭാkൃ സംരkണ നിയമം 2019 aനുസരിc്, ചരkുകളുെടേയാ 
േസവനšളുെടേയാ മൂലയ്ം iരുപത്‌ ലktിൽ താെഴയുll പരാതികൾ 
പരിഗണിkാൻ ജിലല്ാ കmീഷന്‌ aധികാരമുŪ്. 

(ii) 2016 െല വികലാംഗരുെട aവകാശ നിയമšൾ ്രപകാരമുll 
രkാകർതൃതവ്tിനുll വയ്വsകൾ രkാകർതൃതവ്tിെn sിരമായ 
സവ്ഭാവമാണ്‌ 

(iii) ഗാർഹിക പീഡനtിൽ നിnുll സ്‌്രതീകളുെട സംരkണ നിയമം 2005  
്രപകാരം, oരു ഗാർഹിക ബntിലുll oരു സ്‌്രതീk് പŠിŨ കുടുംബtിന്‌ 
eെnŠിലും aവകാശേമാ ശീർഷകേമാ ്രപേയാജനകരമായ താൽpരയ്േമാ 
uെŪŠിൽ aവർk് aതിൽ aവകാശമുŪ്. 

(iv) eസ്‌സി/eസ്‌ടിk് േവŪിയുll േകരള േsƃ് കmീഷൻ aധയ്kെന 
eസ്‌സി, eസ്‌ടി aംഗšളിൽ നിn് നാമനിർേdശം െചyും. 

(A) eലല്ാ ്രപസ്‌താവനകളും ശരിയാണ്‌ 
(B) ്രപസ്‌താവന (iv) മാ്രതമാണ്‌ ശരി 
(C) ്രപസ്‌താവനകൾ (ii) uം (iv) uം ശരിയാണ്‌ 

(D) ്രപസ്‌താവനകൾ (i), (ii), (iii) enിവ ശരിയാണ്‌ 

66. inയ്യുെട േദശീയ വനിതാ കmീഷെn ആദയ് aധയ്k ആരാണ്‌? 
(A) േമാഹിനി ഗിരി (B) വിഭാ പാർtസാരഥി 
(C) ജയnി പഠ്‌നായക്‌ (D) േഡാ. പൂർŬിമ aദവ്ാനി 

67. iനിpറയുnവയിൽ നിn് ശരിയായ ഓപ്‌ഷനുകൾ കെŪtുക : 

(i) SC/ST (്രപിവൻഷൻ ഓഫ്‌ aേ്രടാസിƃി) ആക്‌ട്‌ 1989 ്രപകാരം സൃƈിc 
്രപേതയ്ക േകാടതികൾk് ൈഹേkാടതിയുെട പദവിയുŪ് 

(ii) മാതാപിതാkളുെടയും മുതിർn പൗരnാരുെടയും പരിപാലനവും 
േkമവും നിയമം 2007 ്രപകാരം കുŨികളിലല്ാt മുതിർn പൗരന്‌ 
aവകാശമിലല് 

(iii) െമയിnനൻസ്‌ ്രടിബയ്ൂണലിന്‌ മുmാെക oരു പാർŨിkും നിയമപരമായ 
്രപാതിനിധയ്tിന്‌ aവകാശമിലല് 

(iv) ഭരണഘടനയുെട  42-Lമത്‌  േഭദഗതി ്രപകാരമാണ്‌ aഡ്‌മിനിസ്‌േ്രടƃീവ്‌ 
്രടിബയ്ൂണൽ sാപിതമായത്‌ 
(A) eലല്ാ ്രപസ്‌താവനകളും ശരിയാണ്‌ 
(B) (i) uം (ii) uം മാ്രതമാണ്‌ ശരി 
(C) (iii), (iv) enീ ്രപസ്‌താവനകൾ മാ്രതമാണ്‌ ശരി 
(D) ്രപസ്‌താവനകൾ (ii) uം (iii) uം ശരിയാണ്‌ 

68. ്രടാൻസ്‌െജൻഡറുകൾk് തിരിcറിയൽ സർŨിഫിkƃ് നൽകാൻ ആർkാണ്‌ 
േയാഗയ്ത?  

(A) ജിലല്ാ െമഡിkൽ ഓഫീസർ (B) ചീഫ്‌ െമഡിkൽ സൂ്രപŪ് 
(C) ഏെതŠിലും സിവിൽ സർജൻ (D) ജിലല്ാ മജിസ്‌േ്രടƃ് 
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69. Which of the following statements is correct? 

 (i) A person who purchases goods for consideration and uses them for commercial 

purposes is not a consumer 

 (ii) A child who is found vulnerable and is likely to be inducted into drug abuse or 

trafficking is considered as a child in need of care and protection 

 (iii) The minimum punishment provided in IPC for causing grievous hurt by the use of 

acid against a woman is seven years 

 (iv) The Untouchability (Offences) Act was renamed as SC and ST (Prevention of 

Atrocities) Act 1989 

(A) Statements (i) and (ii) are correct 

(B) All statements are correct 

(C) Statements (i), (ii) and (iv) are correct 

(D) Statements (ii), (iii) and (iv) are correct 

70. Every person with a benchmark disability has the right to free education upto the age of : 

(A) 14 years (B) 18 years 

(C) 21 years (D) 16 years 

71. A grocery store raises the price of a loaf of bread by 25%, then lowers the new price by 

25%. What is the final price of the bread compared to the original price? 

(A) The same as the original price (B) Higher than the original price 

(C) Lower than the original price (D) Cannot be determined 

72. If you multiply a positive fraction less than 1 by itself, the result will be : 

(A) Larger than the original fraction 

(B) Smaller than the original fraction 

(C) Equal to the original fraction 

(D) It depends on the specific fraction 

73. A regular hexagon is inscribed in a circle with radius 6 cm. Find the area enclosed by the 

hexagon : 

(A) 318  cm2 (B) 336  cm2 

(C) 354  cm2 (D) 372  cm2 



 

 

149/2024-M 

A  -31-

69. iനിpറയുn ്രപസ്‌താവനകളിൽ ഏതാണ്‌ ശരി?  

(i) പരിഗണനയ്‌kായി സാധനšൾ വാšുകയും വാണിജയ് 
ആവശയ്šൾkായി uപേയാഗിkുകയും െചyുn oരു വയ്kി oരു 
uപേഭാkാവലല് 

(ii) മയkുമരുn് ദുരുപേയാഗtിേലേkാ കടtിേലേkാ വിേധയമാകാൻ 
സാധയ്തയുll, ദുർബലരാെണn് കെŪtുn oരു കുŨിെയ സംരkണം 
ആവശയ്മുll കുŨിയായി കണkാkുnു. 

(iii) oരു സ്‌്രതീയ്‌െkതിെര ആസിഡ്‌ ്രപേയാഗം മൂലം ഗുരുതരമായ 
മുറിവുŪാkുnതിന്‌ ഐപിസിയിൽ നൽകിയിരിkുn ഏƃവും കുറŧ 
ശിk ഏഴ്‌ വർഷമാണ്‌ 

(iv)  െതാŨുകൂടായ്‌മ (കുƃകൃതയ്šൾ) നിയമം 1989-െല eസ്‌സി, eസ്‌ടി 
(aതി്രകമšൾ തടയൽ) ആക്‌ƃ് en് പുനർനാമകരണം െചയ്‌തു. 
(A) ്രപസ്‌താവനകൾ (i) uം (ii) uം ശരിയാണ്‌ 

(B) eലല്ാ ്രപസ്‌താവനകളും ശരിയാണ്‌ 
(C) ്രപസ്‌താവനകൾ (i), (ii), (iv) enിവ ശരിയാണ്‌ 

(D) ്രപസ്‌താവനകൾ (ii), (iii), (iv)  enിവ ശരിയാണ്‌ 

70. മാനദū ൈവകലയ്മുll ഓേരാ വയ്kിkും ്രപായപൂർtിയായവെര സൗജനയ് 
വിദയ്ാഭയ്ാസtിനുll aവകാശമുŪ്: 

(A) 14 വയs് (B) 18 വയs് 
(C) 21 വയs് (D) 16 വയs് 

71. oരു പലചരk് കടയിൽ oരു െറാŨിയുെട വില  25% വർdിkുnു. തുടർn് പുതിയ 
വില 25% കുറയ്‌kുnു. യഥാർt വിലയുമായി താരതമയ്ം െചyുേmാൾ 
െ്രബഡിെn aവസാന വില e്രതയാണ്‌? 

(A) യഥാർt വിലയ്‌k് തുലയ്മാണ്‌ 
(B) യഥാർt വിലേയkാൾ കൂടുതലാണ്‌ 
(C) യഥാർt വിലേയkാൾ കുറവാണ്‌ 

(D) നിർŬയിkാൻ കഴിയിലല് 

72. നിšൾ 1-ൽ താെഴയുll േപാസിƃീവ്‌ ഭിnസംഖയ്െയ ഗുണിcാൽ ഫലം : 

(A) യാഥാർt ഭിnസംഖയ്േയkാൾ വലുത്‌ 

(B) യാഥാർt ഭിnസംഖയ്േയkാൾ െചറുത്‌ 
(C) ഭിnസംഖയ്യ്‌k് തുലയ്ം 

(D) iത്‌ നിർdിƈ ഭിnസംഖയ്െയ ആ്രശയിcിരിkുnു 

73. oരു സാധാരണ ഷഡ്‌ഭുജം 6 െസnീമീƃർ ദൂരമുll oരു വൃttിൽ ആേലഖനം 
െചയ്‌തിരിkുnു. ഷഡ്‌ഭുജtാൽ ചുƃെpŨ ്രപേദശം കെŪtുക  : 

(A) 318  െസ.മീ.2 (B) 336  െസ.മീ.2 

(C) 354  െസ.മീ.2 (D) 372  െസ.മീ.2 
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74. A company sells a product with a marked price of  120/-. They offer a 15% discount and 
another 10% discount. What is the final selling price? 

(A)  84 (B)  91.8 

(C)  96.7 (D)  102 

75. A car travels a certain distance at a speed of 60 km/h. If the same distance is covered at 
a speed of 80 km/h, the time taken is reduced by 1 hour. Find the distance traveled. 

(A) 120 km (B) 160 km 

(C) 200 km (D) 240 km 

76. In a geometric progression, the 5th term is 16 times the first term. Find the 7th term if 
the first term is 2 : 

(A) 128 (B) 256 

(C) 512 (D) 1024 

77. A company assigns employee identification numbers based on a complex system. The 
first digit represents the department (1 - Sales, 2 - Marketing, 3 - IT, etc.), the second 
digit signifies the employee’s seniority level (1 - Junior, 2 - Mid-Level, 3 - Senior), and 
the last two digits are a sequential number starting from 01 for each department and 
seniority level combination. Identify the employee with the most experience if the 
following IDs are observed. 

(A) 1203  

(B) 2110 

(C) 3305  

(D) 2308 

78. If 20% of a number is 35, what is the number? 

(A) 100 (B) 175 

(C) 150 (D) 200 

79. If you are facing east and turn 270 degrees anti-clockwise, in which direction are you 
now facing? 

(A) North  

(B) South 

(C) East  

(D) West 

80. Solve the inequality : 153 <− x   

(A) 5−>x   

(B) 5−<x  

(C) 5>x   

(D) 5<x  
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74. oരു കmനി 120 en വിലയിൽ oരു uൽpnം വിൽkുnു. aവർ 15% 
കിഴിവും മെƃാരു 10%  കിഴിവും വാഗ്‌ദാനം െചyുnു. anിമ വിൽpന വില 
e്രതയാണ്‌? 

(A)  84 (B)  91.8 
(C)  96.7 (D)  102 

75. oരു കാർ oരു നിƆിത ദൂരം മണിkൂറിൽ 60 കിേലാമീƃർ േവഗതയിൽ 
സŦരിkുnു. aേത ദൂരം മണിkൂറിൽ 80 കിേലാമീƃർ േവഗതയിൽ 
സŦരിkുകയാെണŠിൽ, eടുkുn സമയം 1 മണിkൂർ കുറയുnു. സŦരിc 
ദൂരം കെŪtുക : 

(A) 120 കി.മീ. (B) 160 കി.മീ. 
(C) 200 കി.മീ. (D) 240 കി.മീ. 

76. oരു ജയ്ാമിതീയ പുേരാഗതിയിൽ, 5-ആം പദം ആദയ് പദtിെn 16 മടšാണ്‌. 
ആദയ് പദം 2 ആെണŠിൽ ഏഴാമെt പദം കെŪtുക  : 

(A) 128 (B) 256 
(C) 512 (D) 1024 

77. oരു സŠീർŬ സംവിധാനെt aടിsാനമാkി oരു കmനി ജീവനkാരുെട 
തിരിcറിയൽ നmറുകൾ നൽകുnു. ആദയ് akം വകുpിെന 
്രപതിനിധീകരിkുnു (1-െസയിൽസ്‌, 2-മാർkƃിംഗ്‌, 3-ഐടി മുതലായവ), 
രŪാമെt akം ജീവനkാരെn സീനിേയാറിƃി െലവലിെന സൂചിpിkുnു 
(1-ജൂനിയർ, 2-മിഡ്‌-െലവൽ, 3-സീനിയർ), aവസാനേtത്‌ രŪ് akšൾ ഓേരാ 
ഡിpാർŨ് െമnിനും സീനിേയാറിƃി െലവൽ േകാmിേനഷനും 01 മുതൽ 
ആരംഭിkുn oരു സീകവ്ൻഷയ്ൽ സംഖയ്യാണ്‌, iനിpറയുn ഐഡികൾ 
നിരീkിkുകയാെണŠിൽ ഏƃവും aനുഭവപരിചയമുll ജീവനkാരെന 
തിരിcറിയുക : 

(A) 1203 (B) 2110 
(C) 3305 (D) 2308 

78. oരു സംഖയ്യുെട 20% 35 ആെണŠിൽ, സംഖയ് enാണ്‌? 

(A) 100 (B) 175 
(C) 150 (D) 200 

79. നിšൾ കിഴേkാŨ് തിരിŧ് 270 ഡി്രഗി eതിർ ഘടികാരദിശയിൽ തിരിയുകയാ 
െണŠിൽ, നിšൾ iേpാൾ ഏത്‌ ദിശയിേലkാണ്‌ aഭിമുഖീകരിkുnത്‌? 

(A) വടk് (B) െതk് 
(C) കിഴk് (D) പടിŧാറ്‌ 

80. aസമതവ്ം പരിഹരിkുക : 153 <− x  

(A) 5−>x  (B) 5−<x  
(C) 5>x  (D) 5<x  
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81. A group of eagles is called : 

(A) Convocation   

(B) Parliament 

(C) Council   

(D) Headquarters 

82. Find out the compound noun : 

(A) Blockhead  

(B) Brainwash  

(C) Ice-cold  

(D) Grass-fed 

83. Antonym of the word ‘‘lasting’’ is : 

(A) Perpetual   

(B) Momentary  

(C) Infinite   

(D) Eternal  

84. Which is the correct spelling? 

(A) Leiutenant   

(B) Leuitenant  

(C) Leftenant   

(D) Lieutenant  

85. When does the class commence? The meaning of the word ‘‘Commence’’ is : 

(A) end  

(B) continue 

(C) conclude   

(D) start 
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86. Add prefix and suffix to the base form ‘believe’ : 

(A) enbelievable   

(B) forbelievable  

(C) unbelievable   

(D) onbelievable  

87. What does the term ld est mean? 

(A) that is  

(B) for example 

(C) for reference   

(D) for sure  

88. Give the synonym of the word ‘abundance’ : 

(A) little  

(B) meagre 

(C) plenty   

(D) scarce 

89. We are eager to get on in life. The meaning of the phrasal verb ‘get on’ is : 

(A) progress   

(B) fail 

(C) ruin   

(D) fall 

90. Mary is a good student. I like her –————— nature 

(A) Childish   

(B) Childed 

(C) Childlike   

(D) None of these 
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91. eലി en aർttിൽ വരുn പദേമത്‌? 

(A) ഊഷകം  

(B) കരടം 

(C) മഹാംഗം  

(D) ഖനകൻ 

92. ശരിയായ വാകയ്ം ഏത്‌? 

(A) aതിെനkാൾ കവിŧ oരു ഗുണെമാnും ഈ uപകരണtിനിലല് 

(B) ഞാൻ സതയ്ം പറയാൻ കാരണം aവൻ വീŪും േചാദിcതു 

െകാŪാണ്‌ 

(C) ദുരിതാശവ്ാസഫŪിേലk് താŠൾ കുറŧത്‌ ആയിരം രൂപ സംഭാവന 

െചyണം  

(D) ഫാക്‌ടറിയിെല വാതക േചാർcയിൽ ആർkും ആളപായമുŪായതായി 

aറിവിലല് 

93. െവllം കുടിkാനുll ആ്രഗഹം – oƃpദമാkുക : 

(A) പിപാസു   

(B) പിപാസാ 

(C) പിപാംസു  

(D) പിപാസയ് 

94. As thick as thieves en iംgീഷ്‌ ൈശലിയുെട മലയാളtിലുll aർtം 

enാണ്‌? 

(A) വളെര സൗഹൃദtിൽ   

(B) വളെര െഞരുktിലാവുക 

(C) aതീവ രഹസയ്മായി  

(D) oരുമിcു നില്‌kുക 

95. പാതി + ഫലം – േചർെtഴുതുക : 

(A) പാതിബ്‌ഫലം  

(B) പാതിഫലം 

(C) പാതിപ്‌ഫലം  

(D) പാതിഫ്‌ഫലം 
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96. Ơാഘയ്ം en പദtിെn വിപരീതപദം കെŪtുക : 

(A) ഗർഹം   

(B) aƠീലം 

(C) ശിƈം  

(D) േഗാപയ്ം 

97. eŬായിരം പിരിെcഴുതുnത്‌ ešെന? 

(A) eŨ് + ആയിരം   

(B) eണ + ആയിരം 

(C) eൺ + ആയിരം  

(D) eŬ് + ആയിരം 

98. ശരിയായ പദേമത്‌? 

(A) വിmയ്ƈം  

(B) വിmിഷ്‌ഠം 

(C) വിmിŨം  

(D) വിmിƈƣം 

99. ചാകയ്ാർസ്‌്രതീ aറിയെpടുnത്‌ ഏതു േപരിൽ? 

(A) നšയ്ാർ   

(B) iേലല്ാടm 

(C) aകtm  

(D) നmഷ്‌ഠാതിരി 

100. aവിേവകം കാŨരുത്‌ en aർttിൽ വരുn പഴെŦാേലല്ത്‌?  

(A) aടി െതƃിയാൽ ആനയും വീഴും   

(B) aŠവും കാണാം താളിയും oടിkാം 

(C) ആടറിയുേമാ ašാടി  വാണിഭം 

(D) iരിയ്‌kുn  െകാm് മുറിയ്‌kരുത്‌ 

————————— 
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Space for Rough Work 
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Space for Rough Work 
 


